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SN 2=
M o= AH(TRY)
el DIREA Y 24X XA (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OrgNExcaaze U8 4
600,000& = 13l 600
OFAL & FOUXNXMEH H=I| 22l
40,0002 * 4§ * 12 1,920
OflEa BIHII YUE
56,000& = 2CH » 12& 1,344
02 B2 82,315 76,869 5,446
OFAHHI AL (FA & O2ABAE) 5,160
SHA Y FURIIME (2UGLA TE)
50,000& = 12& 4,200
-OF B8 & 80,000& = 123 960
02323 % HA 42,340
-HI R ERS(EM Y 0ASHE)
3,300,000& * 12& 39,600
-HAHS & FAXR = 40,000& = 123 480
-HaS=AIE IS
60,000& * 1A + 128 720
—ESINERES 110,000 * 23| 220
“HA Y FOURAME REYSABE
80,000& = 12& 960
-FRNXHE CIHY AEZ
30,000& = 12& 360
O =l 6,000
LA 2| 12,000& = 5AI2t = 1002 6,000
OAEEHl sX2eltl 21,550
A 2R X HI(1,814m) 4,000,000& 4,000
-HE3d =81 Xdl 1,000, 000& 1,000
-HASZE Fl 270,000 » 3700 2 9,990
-HlaZ==Al4 FHI 500,000& = 1JH 2 500
-0HI =2 ¥ RFEFLY 100,000& * 3O 300
-HM&ZH |sX2el 220,000 « 18CH 3,960
“AIAE oA EA
100,000& =« 18CH * 13 1,800
OXtE & Byl 3,945
-2~ 852 2,605,000&  1CH 2,605
XA Z 70,000& * 1CH = 23] 140
-HEE=EXNE EIIX 1,200,000& * 1CH 1,200
Ogigiol Mg PC OIEY ABE
30,000& = 12& 360
OFM =F= SR 2,000,000& 2,000
OFAL & FOXNXEEH 2% CCTV
80,000& * 12& 960
206 TH 2 HI 1,000 1,000 0
01 MHZ 4l 1,000 1,000 0
O==0 Jt2= HM=Etl 1,000, 000& 1,000




2=o
IR ZAH(Z T E)
JIREA U SHEX XS o HE)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
AN EEEM XA 2,400 2,400 0
201 gBt24d| 2,400 2,400 0
01 AP 22| H| 2,400 2,400 0
OX<EAEEE
20,000& * 15¥ * 83| 2,400
H2AMHFR(A2H 264,600 195,000 69,600
DA 264,600 195,000 69,600
2ol & ARDZAY 101,600 95,000 6,600
201 et | 6,600 10,000 A 3,400
02 232%H4| 6,600 0 6,600
OEXOlE2 HEAAH(D-DAS) SA2ACIE2A
6,600,000& = 1Al 6,600
401 AlEHIZL £ 0HY| 95,000 85,000 10,000
01 Al& b 80,000 70,000 10,000
OE=2 S A& A4 50,000,000 50,000
OFOAME JI245 SA&e2ldl 10,000,000 10,000
OFXQE2 ¥ &Y ERI| XY
15,000,000& 15,000
OAFREBAIE XNE S SE29Hl 5,000,000 5,000
03 Al 201 Y| 15,000 15,000 0
ON&EZH X2 5,000,000& 5,000
O 2 staAY &Y 2x2 10,000,000 10,000
22 XAAY 15,000 10,000 5,000
206 M = dl 5,000 5,000 0
01 X2 bl 5,000 5,000 0
OZ2LXHY MY 5,000,000& 5,000
401 AIEHIZ 201 Y| 10,000 5,000 5,000
01 Al&H| 10,000 5,000 5,000
Ostet & 22 x4 10,000,000 10,000
Z= 0120 O &F 148,000 90,000 58,000
401 AlEHIZ 2 0HY| 148,000 90,000 58,000
01 Al&H| 148,000 90,000 58,000
OHDOIE Al M2 =8 XY A
18,000,000 18,000
OFDA MM (F=AZ|) & =4
30,000,000 30,000
OlfA S&t2 A H| 30,000,000 30,000
OF0A ME HXAE L Hel otlE 5 &
N| 20,000,000 20,000
OHASZHE =3 O2l)| 20,000,000 20,000




SN 2=
Hu: SHAROAASN(LTY)
Sl ARBAYE (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
O=gel 202 AT ZU= MK
30,000, 000& 30,000
HHSHAY (A=H) 155,162 16,440
Jl2dg(2d=3H) 155,162 16,440
Jl2&l 155,162 16,440
201 Bt A H| 70,322 A B0
01 AP 2t2l bl 46,010 A 60
O +g(2d=524|) 14,400,000& 14,400
Ogst2H| 7,800,000 7,800
O= &l 7,250,000& 7,250
OEAMI L2 200,000& * 1CH ~ 12€& 2,400
OHFEH A2E FH| 14,160
-HHZey 8,800
- EY 440,000& * 2001 * 48 x 23] 7,040
S 440,000 * 200 * 23] 1,760
-etI el 200,000& = 11C0H * 23] 4,400
—“ZAJIN(EHZE=) 200,0008 « 104 = 33l 600
-FAX 120,000& * 1CH = 33 360
02 33249l 24,312 0
O222=2 % JMAMd(fEH23) 21,400,000& 21,400
O#HHEH FXEEHl 2,912
-CIIs AR 1,300,000& * 24CH * 5% 1,560
-2l E 4,000,000 = 13CH * 2% 1,040
-= AHD| 15,000,000& « 100 ~ 2% 300
—-FAX 600,000& = 1CH * 2% 12
202 04| 56,700 0
02 & 40| 56,700 0
OEHHYI 225,000& * 214 x 12& 56,700
203 R =X | 11,640 0
01 J|22H L R=AH| 6,600 0
OHE 550,000 = 128 6,600
02 BRI YR2FAH| 840 0
OZ&S A& 2 A Y| 40,000& * 21¥ 840
04 SASYALRF Y| 4,200 0
ORNS2IgIR2F&Y| 350,000& = 128 4,200
A& HI % = Oh b 16,500 16,500
01 Al&H| 16,500 16,500
ODIAA DR AIREZE A
15,000,000 = 14! 15,000
OHAITY &7 Xl 1,500,000& = 14l 1,500




